

$$15 : 3 \frac{3}{8} \cdot 3 \frac{3}{5} = \left(3 \frac{1}{14} - 2 \frac{3}{4} \right) : \frac{3}{14} = 14 \frac{1}{2}$$

$$1) 3 \frac{1}{14} - 2 \frac{3}{4} = \frac{43}{14} - \frac{11}{4} = \frac{86 - 77}{28} = \frac{9}{28}$$

$$2) 15 : 3 \frac{3}{8} = \frac{15}{1} : \frac{27}{8} = \frac{15}{1} \cdot \frac{8}{27} = \frac{120}{27}$$

$$3) \frac{120}{27} \cdot 3 \frac{3}{5} = \frac{120}{27} \cdot \frac{18}{5} = \frac{432}{27}$$

$$4) \frac{9}{28} : \frac{3}{14} = \frac{43}{28} \cdot \frac{14}{3} = \frac{3}{2}$$

$$5) \frac{432}{27} - \frac{3}{2} = \frac{864 - 81}{54} = \frac{783}{54} = 14 \frac{27}{54} = 14 \frac{1}{2}$$